


INFILLS
- 1 FOR ALUMINUM FENCES

 FULL INFILLS

* INFILLS WITH GAP
 LOUVER INFILLS
 PANEL INFILLS

* VERTICAL INFILLS
FACADES

ADAPTERS
FOR ALUMINUM FENCES

- MODEL 20/18/16/14
- MODEL 20/22/24/26

- MODEL 20
- MODEL 30
- MODEL 40
- MODEL 46

FENCE
ACCESSORIES

» SUPPORT BRACE CHANNEL
» LED PROFILES

FENCE POSTS
FOR ALUMINUM FENCES

» FENCE PROFILES

DYl ALUMINUM PROFILES
» FENCE ACCESSORIES



5 GATES
SINGLE SWING GATE - SSG

DOUBLE SWING GATE - DSG
ROLLING GATE - RLG
CANTILEVER GATE - CLG

YL T T T T O

52 - 61

6 ACCESSORIES

» FRAME PROFILES

* HINGES

* LOCKS, INOX DOOR HANDLES
* GATE STOPPERS, BOLTS

* RACKS

» WHEELS

|

8 APPLICATION

62-79

GATE SETS
FOR ALUMINUM FENCES/GATES

« FENCE SETS
 GATE SETS

 DESIGN GALLERY

84 - 87



i FENCES

\

\

A0
\\
A\

\

| '\;\'\'\'\‘

\
RLLLTTTTTNY

WW

1
i
[}




FULL INFILLS

MODEL 20

INFILLS WITH GAP

MODEL 20

LOUVER INFILLS

MODEL 20
MODEL 30
MODEL 40
MODEL 46

PANEL INFILLS

GLASS
PLATE (t= 1-10mm)
SOLAR

VERTICAL INFILLS

FACADES



ma  AL/4359-1800-R7018
AL/4359-6000-R7016 6000

706

[elpM-lol o8 - WITHOUT GAPS

a8
L2 |
T A-DIN 7504K-A2 4,2x16
Lo TR
1800

F4

L max [m]

T

20

12
na.  FG/F20x120-2000-R7016
705 FG/F20x120-6000-R7016

siver  FG/F20x120-6000-N

il
o

RAL
7016

ziver  FG/FC20-6000-N

20

FG/FC20-2000-R7016
FG/FC20-6000-R7016

277

MOUNT
system

2000

F4

6000

MOUNT system F4

#

FG/A20-...

@i@i

FG/A20x26-...

FAN

&

FG/A20x14-...

thermal expansion 0.02mm/1m/1°C







i[eln] L0y - WITH GAPS

3

L max [m]

A-DIN 7504K-A2 4 2x16

L max MU;_I."-IT
system
S AL/20655000 o & M STAND OUT AMONG OTHERS
black  AL/20x5-6000-R9005 YO RF LO
na  (EGEZIXEIEOOE (O =000 FG/S20-RAL-WD can be customized to any individual RAL colour
7018 FG/S20x20-3000-R7016 3000 3 and wood decer. For specific requests email us at: info@umakov. sk
1,5
siver  FG/S20x20-6000-N
8000 20
na  FG/S20x20-6000-R7016
| TS FE/S20x20-7000-RT016 7000 RAL e
AlISI304 ziver  A/20x20x0,4-6000 6000 0s 2 2] ﬁ
i I pa  FG/S20x30-2000-R7016 2000 RALS0OT RAL7018 ﬁ’
T8 F@G/S20x30-3000-R7016 3000 : §UMAI(DV
siver  FG/S20x30-6000-N 15 3 < <
pa  FG/S20x30-6000-R7016 RS B e [k L
0% FG/S20x30-7000-R7016 7000
ziver  A/20x30x0,4-6000 000 0,4 a
pa  FG/S20x40-2000-R7016 2000
TS FE/S20x40-3000-R7016 3000
siver  FG/S20x40-6000-N 12 3
6000 40
na  FG/S20x40-6000-R7016
I | 7018 FG/S20x40-7000-R7016 7000
LK satin | civer  A/20x40x0,6-6000 s000 06 2
i | AL/4376-1800-R7016 1800
55 1,5 3
s AL/4376-5000-R7016 P AVAILABLE WOOD DECORS
T8 F@G/S20x60-2000-R7016 2000 -
system
FG/S20x60-3000-R7016 3000
| cHooSE FG/S20RALWD  soon 2030-40.60. RCERCT
siver  FG/S20x60-6000-N 2 i3 i
6000 &0
na  FG/S20x60-6000-R7016
T0®  F@G/S20x60-7000-R7016 7000
AISI304 civer  A/20x60x0,6-6000 8000 0§ 2
’ FG/S20xB80-2000-R7016 2000
RAL MODEL
Joie FG/S20x80-2500-R7016 2500 o
FG/S20xB80-3000-R7016 3000 =
1 25
ziver  FG/S20x80-6000-N a0 1
8000 43_-“
na  FG/S20x80-6000-R7016 o
T0%®  FG/S20xB0-7000-R7016 7000
AISI304 civer  A/20xB0x0,8-6000 8000 o8 2 o
F / -
FG/S20x100x1-2000-R7016 2000 FG/AZ0-...
FG/S20x100x1-2500-R7016 2500 4 |
1 25
FG/520x100x1-3000-R7016 3000 i
FG/S20x100x1-6000-N d
FG/S20x100x1,2-6000-N 0012 3
8000
FG/S20x100x1-6000-R7016
FG/S20x100x1-6000-W01 1 25 P, EG/A20x26-...
FG/S20x100x1-7000-R7016 7000 |
AISI304 siver  A/20x100x0,8-6000 £000 [ S F
pa  FG/S20x120-2000R7016 2000 ghas §
TME  FG/S20x120-3000-R7016 3000 ]
|
siver  FG/S20x120-6000-N 120 1,2
E 8000 3
FG/S20x120-6000-R7016
AL = FG/A20x14-...
T0'®  F@/S520x120-7000-R7016 7000 MOUNT sy stem S4
siver  FG/S20x200x1,9-6000-N §000 200 1,8

8 thermal expansion 0,02mmy1m/1°C



MODEL pLolY - WITH GAPS

s RECOMMENDED TO s 20 = o RECOM'ME LD
20 e SCREW AT LEAST 20 nﬁ%ﬁ# IAIFEEEA
THE LAST LAMELLA .,
. |
™|
=
o Ll
- \
FG/A20-...
] @
b
*\ \ FG/A20-...
FG/A20x14-...
MOUNT system s4- light| * MOUNT systern s4- light| |
/

AL/20x5-6000-R2005

AL/20x5-6000

A/20x20x0,4-6000




["[e]n] 2 ~-lolo8 - WITH GAPS

M T
L max system

FG/520x160-2000-R7016 2000

RAL
7018 FG/S20x160-3000-R7016 3000
ALUMINIUM * 01| sitver  FG/S20x160-6000-N 3
8000
ma.  FG/S20x160-6000-R7016

7018 FG/S20x160-7000-R7016 7000

; L max [Pien
|aLumnl ser  FG/S20x250x2-6000N 6000 3 [

B i 15| [

A-DIN T504K-A2 4 2x16

L max [m]

A-DIN T504K-A2 4 2x16

thermal expansion 0.02mmyiTm/1°C



IR - WITH GAPS

al Finish Effect

RAL
7016

RAL
9008

FG/$20x100x1,3-2000-R7016
FG/520x100x1,3-4000-R7016
i FG/520x100x1,3-2000-R9006
FG/$20x100x1,3-4000-R9006

Material Finish Effect

art.
FG/520x120x1,3-2000-R7016
FG/520x120x1,3-4000-R7016
FG/520x120x1,3-2000-R9006
FG/520x120x1,3-4000-R9006

Material Finish Effect

RAL
7016

RAL
9008

art.
FG/$20x150x1,5-2000-R7016
FG/520x150x1,5-4000-R7016
FG/520x150x1,5-2000-R9006
FG/S20x150x1,5-4000-R9006

100

KT
A0

{

20

:

Y
A

\14
A

A-DIN 7504K-AZ 4 2x16

A-DIN 7504K-A2 4 2x16

A-DIN 7504K-A2 4 2x16

11



leln]2-lo] M - L OUVER

/1717

20 30 40 46
RAL
7016

ALU ailver
RAL

7016

ailver

RAL
7016

ailver

RAL
7016

FG/L1520x120-2000-R7016 2000
FG/L1520x120-3000-R7016 3000
FG/L1520x120-6000-R7016 5000 )
FG/L1520x120-6000-N
FG/L1520x120-7000-R7016 7000
FG/L1520x105-6000-R7016
FG/L1520x105-6000-N 6000
FG/L1520x104-6000-N

FG/L2520x120-2000-R7016 2000
FG/L2520x120-6000-R7016

FG/L2520x120-6000-N 6000
FG/L2520x120-7000-R7016 7000

20 30 40 46

RAL
TO18

silver

RAL
7018

MOUNT
system

FG/020x100-2000-R7016
FG/020x100-6000-R7016
FG/020x100-6000-N

FG/020x100-7000-R7016

FG/L1520x120...

FG/L1520x105... FG/L1520x104...

A-DIN 7504K-A2 4,2x13 |
MODEL
20L/486

MODEL | MODEL | MODEL

20L/30|20L/40|20L/46

MOUNT
system E

L4 L6 100

96

92

90,5

A-DIN T504K-A2 4 2x13 |

thermal expansion 0.02mm/1m/1°C




MODEL -
40

MODEL
el a6 e
., Lt e, »
[
L4
\;
E

L

~ || e I

1 L

o FG/A46-... - FG/A40-...
.l Bt
MOUNT system L1 MOUNT system L2
MODEL
<] 30
—
L.
o
|
i |
~aggpgasaann A
|
|
L | FG/AS30-...

MOUNT system L3

/[

B S

MOUNT system L4

e

Ll

FG/AZ20-...

FG/A20x26-...

&

FG/A20x14-...

MODEL

20 |

1
x FG/AMZ20x16é-...

MOUNT system Lé

13



14

| (o]0 M- {oVi 30 - LOUVER ATYP

i
)

]_.
w - -

AL/4328-1800-R7016 1800 PVC RAL  a19/2545R7016

AL/4328-6000-R7016 6000

Fence total lamel
height count

1010 mm 8x (n=7)

A19/2545. ..
1135 mm 9x (n=8)

AL/4407... 1260 mm 10x (n=9)

1385 mm 11x (n=10)

1510 mm 12x (n=11)

1635 mm 13x(n=12)

1760 mm 14x (n=13)

1885 mm 15x (n=14)

A

TR,

gl —
X
— g

thermal expansion 0,02mmyf1m/1°C



[e]0] M- {oVi- 8 - LOUVER ATYP

115

54 — t—

RAL
7016

RaL FG/LBx120-2000-R7016 2000 FG/ABx120-R7016

7018 FG/L8x120-6000-R7016  B000

LOUVRE-ATYP

[
P
I

15



DBANERSVSTENIN MODEL 20P RVl ON IPRRR

1000
W/ \\
D 0
8 2
o (] B %D/ =
132
FG/PS02-100x200-1,2-Zn 12

2
3-4

1000
o
o
46
[
- ™
LS TR e — o T =

1.2

16

thermal expansion 0,02mm/im/1°C



i
LT
||||.I|I‘||||||| ‘I

Material Finish Effect

art.
AL/1762-100x200-3-N

MOUNT system P7

MODEL

20

P AN
Mm

FG/AU20x16-...

FG/AM20x16-...

Clagg

17



18

[le]n] = M~-Io Bl - for PANEL infills

BEs

"""

RAL AL/4308-1800-R7016 1800

TME Al /4308-6000-R7016 H000

20

L
12y
813

na.  FG/F202000R7016 2000
0% F@E/F20.6000R7016

6000
siver  FG/F20-6000-N

18
|
& o
S
18,6
20,6
(o Jousss
RAL AL/4307-1800-R7016 1800
ALUMINIUM —~
7018 AL/4307-6000-R7016 6000

—
174 |
ou  FG/FC20-2000R7016 2000
0% FG/FC20-6000-R7016

6000
FG/FC20-6000-N

ailver

2
]

[ T=air ]

ke,

o

o

MOUNT

system

Rubber black  A19/PC20x16-001-01.0 1000 1 PV. P7
MOUNT

system

Rubber black  A19/PC20x16-002-01.0 1000 2 PV, P7
MOUNT

= system
| Rubber black  A19/PC20x16-006-01.0 1000 3] PV, P7

—

Rubber black  A19/PC20x16-004/006-01.0 1000
Rubber black  A19/PC20x16-008-01.0 1000

M T
system

Ll PV. P7

MOUNT P

system

AN PV, P7

thermal expansion 0.02mm/1m/1°C



19



- T Sl - SOLAR PANEL 1765x1043x5 mm

llustrative sample - miniature

FG/AU20x16-... |

\ \W
SOL-MC4... tk

llusirative sample - miniature MOUNT system PV

MOUNT
system
COHIGE oo | SOL-AGORA-B60-370 5 .

FG/AM20x]16-...

D = 04

Panel type Monocrystalic, bifacial
Power 370 Wp

Weight 22 kg

Opt. oper. current | 10,03 A
Opt. oper. voltage | 36,9V

Effectivity 201%
=
Frame none
Dimension 1765x1043x5 mm
Operating temp. -40°C ~ +85°C

IP rating IP&3

llustrative sample - miniature

20

thermal expansion 0.02mmy1m/1°C



| [[e]n]= I~ {o] ATl - SOLAR PANEL 1765x1043x5 mm

“ 45 FG/AU20x16-...
o 28.5
@l il
R #
A =
FG/AM20x1 6-...
ma.  FG/AT16-1850-R7016 1850
016 4.
706 FG/AT16-6000-R7016 c000 oL
siver  FG/AT16-6000-N
“ 45
o 28,5
W —
“ .
o / (T
(=] L
A 9 =) .;,J 2
O
|
| 20
45
ma.  FG/AF45x14-1850-R7016 1850
A, : MODEL
7096 FG/AF45x14-6000-R7016 000 TS aaL
siver  FG/AF45x14-6000-N . rog  FG/CA45x40-R7016 20 A-DIN 75054 5x20
‘i{_\\
td | i 2
% L=y
14
MOUNT
= system
FG/PC20X16.-20.R7016 Rubber black  A19/PC20x16-004/006-01.0 1000 45 Na'M:=rd
FAL  EG/PC20X16-1850.R7016
7016 1-10
FG/PC20X16-6000-R7016
siver  FG/PC20X16-7000-N
A,
\’
SOL-H1Z2Z2-K 1x4 red 1x SOL-MC4-EVO2-F SOL-MC4-EVO2-M SOL-MC4-TOOL |
(Pl SOL-H1Z2Z2-K 1x4 black  4mm i

‘B SOL-H1Z2Z2-K 1x6 red 1x
[IET8 SOL-H1Z22Z2-K 1x6 black 6mm

21



22

Quality

| mopEL 20

FG/AL40U-1850-R7016
FG/ALA0U-6000-RT016
FG/AL40U-6000-N

Finish

L ni

AL/U25X25x2-...

JEELLE

4
44

=]

naL  FG/AF41x9-1850.R7016 1850

MODEL

GELEIN 7016 FG/AF41x9-6000-R7016 6000 [T

siver  FG/AF41x9-6000-N

RAL
7096 AL/9478-6000-R7016

silver AL/9478-6000-N

7000

lamel end cap

A19/5406C-RT018

i Quality  Finish art. A
na.  FG/SC20x80-R7016 80
FG/SC20x100-R7016
rosscoxtoonsoor '™
FG/SC20x80-N 80
FG/SC20x100-N 100

thermal expansion 0,02mm/im/1°C



40

| —

RAL
7018 AL/9450-6000-R7016

silver AL/9450-6000-N

RAL
1018 AL/9449-6000-R7016

silver AL/9449-6000-N

natural

natural

4

s
ﬁQS

ke

B2/01-80x25-R9005

B2/01-80x25 A-DIN 7504K-A2 6,3x16 L

~rd
art.

FG/BPB0x30B-N

23




| FENCE SYSTEM

e
=
o™
30 mm
RAL
GELNEIN . FG/FC20X30-R7016
PE . B
RAL
A FG/FC30X40R7016
25
c 25
d O s
i h L
PAL FG/FA25x20.R7016 -
7016
!ﬁd
-

thermal expansion 0,02mm/im/1°C

LSS P Fa/FC25x20R7016




M FENCE SYSTEM

45 mm

32 mm

RAL

| 7016 FG/FC32X45-R7016

it

FG/FC30X40-WOO0D

40 mm

30 mm

RAL
1048 FG/FC30X40-R7016

wooD
WOOD FG/FC30X40-WO0D

natural

FG/FC-R7016 |

FG/FC2-RT016 ‘




p-

ADAPTERS

FOR ALUMINUM FENCES




MODEL 20/18/16/14

MODEL 20/22/24/26

MODEL 20

MODEL 30

MODEL 40

MODEL 46




(ileln - O WAL WAL WAEY .. adjustable cavity

A g P 3
—- 1 o
=ou:
3 il =
= -
<0 0
= 27.5 i | 27.5
© 40 = 40
= =
< o
o™ o™
MOUNT
system
FG/A20x14-1200-R7016 1200 7R[¢|LE FG/AS20x14-6000-R7016
RAL
rong RGN TG 1500 siver  FG/AS20x14-6000-N
FG/A20x14-1700-R7016 1700

o)
uw
=
Ty
@59
M~
w) —
' } 7 I
> 38 40
- : ' FG/CA0x40-R7016
FAL FG/AF20x14.6000-R7016 A FG/CA0x3BRTO16
ALUMINIUM
siiver  FG/AF20x14-6000-N FG/C40x34-R7016 A-DIN 75054 5x20
4 w3
&
40

MOUNT

system RAL
MINIUM Thi;  FG/CA40x40-R7016 R e
PAL  FG/A2F20x14-6000-R7016

7016 6000 L1§¢|{2'
siver  FG/A2F20x14-6000-N

MODEL

MODEL I
N of *@ ! <,
Loy
o FG.f'AIQO—... o IFG;‘AQ-C)—I...
e\ 5 \‘0
4 ! [

e
g

FG/A20x26-... FG/A20x26-...
L P |
L+
%

[

.
MOUNT system L4 7 FG/A20x14-...

Ia
}\

/

.
MOUNT system 34

/

FG/A20x14-...

2 8 thermal expansion 0.02mm/1m/1°C




MODEL 20 /22 /24 /26 gELITE &1l R 14T

FG/A20x26-1200-R7016
A FG/A20x26-1500-R7016
FG/A20x26-1700-R7016

1200
1500
1700

ziver  FG/A2ZF20x14-6000-N

e FG/A2F20x14-6000-R7016
ALUMINIUM |70

FG/FC20.20-R7016
pa.  FG/FC20-100-R7016
7018 FG/FC20-2000-R7016
FG/FC20-6000-R7016
sher  FG/FC20-6000-N

20

277

17.4

- 54
2000
2000 F4.84

MOUNT

system
20
100

20 p
q\\!
Ll
o
4
%
%
‘ \
U
MOUNT system $4

40 - 46

20 /22 /24 /24

20

e FG/AS20x14-6000-R7016

siver  FG/AS20x14-6000-N

RAL

co1e  FG/CA40x40-RTO16 40

6000

& E
:
2]

MOUNT
system

A-DIN 7505A 5x20

MODEL

20 1
Q“N.
o
o
M

-]

/

.U
MOUNT system 3$4-light
-

AN

1
RECOMMENDED TO
SCREW AT LEAST
THE LAST LAMELLA

ja

FG/A20-...

i

FG/A20x26-...

FG/A20-...

ke

|
b
i3

e

FG/A20x26-...

4o

FG/A20x14-...

L
I

L

L
-

MODEL
20
1
q‘\)

#iL

FG/A20-...

Fil

FG/A20x26-...

1
MOUNT system L4 7

£

FG/A20x14-...

29




40

35

17
nr—
e 02
4 2 3

MOUNT

system
FG/A20-1200-RT016 1200
FG/A20-1500-R7016 1500
FG/A20-1700-R7016 1700

RAL
7016

gilver

RAL
706

silver

20,3

= A\

MOUNT
system

FG/AZF20x14-6000-R7016

L1, 12
54

FG/AZF20x14-6000-N

20
.
N
17.4
MOUNT
system
FG/FC20-20-R7016 20 34
(S ERECann Tae 200
FG/FC20-2000-R7016 2000
FG/FC20-6000-R7016 5000 F4.54
FG/FC20-6000-N

FG/PC20X16-20-... FG/PC20X16-20L... FG/PC20X16-20R..
FG/PC20X16-20L-R7016
FG/PC20X16-20R-R7016 20
L FG/PC20X16.20R7016
FG/PC20X16-1850-R7016 LV oy p7
FG/PC20X16-6000R7016 5000 [eaield
siver  FG/PC20X16-7000-N 7000

30

MOUNT
system

A FG/AS20.6000-R7016

ziver  FG/AS20-6000-N

A-DIN 7505A 5x20

MODEL

20

e

o =
. - I
ol
|
FG/A20-.

RECOMMENDED TO
SCREW AT LEAST
THE LAST LAMELLA

/

AY

FG/A20x14-...

\

MODEL

20

MO

RECOMMENDED TO
SCREW AT LEAST
THE LAST LAMELLA

/

FG/AZ0-...

UNT system $4- Ilght

\

thermal expansion 0.02mm/1m/1°C



MODEL 20 g

45

3,5
5
n

MOUNT
system

pa.  FG/AT16-1850-R7016
7016 FG/AT16-6000-R7016
ziver  FG/AT16-6000-N

na.  FG/AF45x14-1850R7016 1850
7016 FG/AF45x14-6000-R7016 4.6

- s000 EAS
siver  FG/AF45x14-6000-N

3= =
@) .
&=
2 16
15
FG/PC20X16-20-... FG/PC20X16-20L.. FG/PC20X16-20R..
RAL FG/PC20X16-20L-R7016
7016 FG/CA45x40-R7016 A-DIN 7505A 5x20
FG/PC20X16-20R-R7016 20
i AL FG/PC20X16-20R7016
FG/PC20X16-1850.R7016 1850 [J=iisy)
FG/PC20X16-6000R7016 5000 (el
siver  FG/PC20X16-7000-N 7000

MOUNT
system

siver  AL/U25x25x2-6000 6000 A

=1 ESN INFILL (t=

Rubber black  A19/PC20x16-001-01.0 1000 1

¥

- e

L i iystam L il 2
Huhhet black  A19/PC20x16-002-01.0 1000 2 PV, P7 Rttber black  A19/PC20x16-004/006-01.0 1000

[ Mate —— it [ 5o : et -
Rubber black  A19/PC20x16-006-01.0 1000 3] Rubber black  A19/PC20x16-008-01.0 1000

31



29
{8
2
1] NN
= ) ke
4 NN
2 Material Finish Effect art.
' siver  FG/ASB0-6000-N FG/L1520x104-5000-N
" 19.3
3 143
|
"Material  Finish Ef art.
FG/AF19x4-6000-N
HBE MODEL 40 %
—
]
— uy
-+ I -+
|
20
Material Finish Effect art. L
RAL FWN.Q(KL1B§OR_TO16 1850 i
7ME  FG/AL40U-6000-R7016 5000
ziver  FG/AL40U-6000-N
e
= I
—
B |

Material Finish  Effect art
oAl FG/AF41x9-1850-R7016
7016 FG/AF41x9-6000-R7016

VFG{AF41 e

3 2 thermal expansion 0,02mmyTm/1°C



MODEL 40 p

MOUNT
system

FG/A40-1200-R7T016
;o FG/A40-1500-R7016
FG/A40-1700-R7T016

MOUNT

system

RAL
FG/AZF20x14-6000-R7016
7016 g L1. L2,

siver  FG/A2F20x14-6000-N s4

77

17.4

[ ma - Eff : MOUNT
. : system
FG\J'FCQ(_)—ZQ—R?O‘!B 20 a4

pa  FG/FC20-100-R7016 100

TME  FG/FC20-2000-R7016 2000

FG/FC20-6000-R7016
Lo 6000

siver  FG/FC20-6000-N

MODEL
RECOMMEMNDED TO
40 SCREW AT LEAST

THE LAST LAMELLA

FG/AAQ-...

MOUNT system S4-vario

RAL
76

siver  FG/AL40-6000-N

FG/AL40-6000-R7016

MOUNT
system

6000 EE-R-ZE

@D g_
W
o] [
wy [-+]
s ffe
S
Fran L
o
135 3
0
M P FG/C60x40.RT016 AR
FG/§20x40-...

MODEL \

40 [\

FG/C60x40...

FG/A40-...

FG/L1§20x105..

MODEL

40




MODEL 46

=l

le =0 ~0
A - ~0
=
28
40
MOUNT
system
FG/A46.1200.R7016
A FG/A461500R7016
FG/A46-1700-R7016

38

RAL
7016

ailver  FG/AF20x14-6000-N

FG/AF20x14-6000-R7016

133
Les]

6000

siver  FG/A2F20x14-6000-N

38
MOUNT
system
PAL FG/A2F20x14-6000-R7016
7016 Pl L1.12,

84

M|Ol|JIN

[ system L1

MODEL
46

34

40
MOUNT
system
B FG/AL46-6000-R7016
6000 [NEI

siver  FG/AL46-6000-N

2xP5.5
®8.5

53.8
b6

FG/CB6x40-RT016

A-DIN 7505A 5x20

L
706

MODEL

a6 [\

FG/C66x40-R7016

\ FG/AL46U-...

FG/L1520x120..

thermal expansion 0.02mm/1m/1°C



ADAPTER PROBIEE MODEL 46

o
[

I 2
20

()]

oc

=
Material Finish Effect art.

o
ea FG/ALAGU1BS0RTONG =
7096 FG/AL4BU-6000-RT016 <
siver  FG/AL46U-6000-N

T =
o u
= n
1 =

17:3

Material Finish  Effect art L
naL  FG/PCA49x17-1850-R7016
THME  FG/PC49x17-6000-R7016
dver  FG/PCA9x177000N 7000

ADAPTER PROFILE. MODEL 46

AN

28

TN

Material Finish Eifect art.
ailver  FG/L45-6000-N

&

Material  Finish Effect art.
siver  FG/L43-6000-N

35



3 FENCE ACCESSORIES




SUPPORT BRACE CHANNEL

LED PROFILES




(o, L\ || - Recommended for panels wider than 2 meters

Finish

maL  FG/A40U-1850-R7016
natural 70_’5 ~ FG/A40U-6000-R7016
silver  FG/A40U-6000-N

41
45

41
44

" paL  FG/AF41x9-1850R7016
7016 FG/AF41x9-6000-R7016
siver  FG/AF41x8-6000-N

-Hooo

1850

7000

& WIS - Recommended for panels wider than 2 meters

40

art

RAL
7016 AL/9449-6000-R7016
silver AL/9449-6000-N

258

1T 7©
-

Effect art.
RAL
7016 AL/9450-6000-R7016
silver AL/9450-6000-N

A19/4477C b g

12

AL/4477-1500-R7016

RAL
7016

L

-\-'

thermal expansion 0,02mmy1m/1°C




| QehIS NIl - WITHOUT GAPS

120
135

(=]
w
-

qu  FG/F201ED-2000-R7016
70 FG/F201ED-6000-R7016

A19/LED20-2000

natural o
. FG/..-2000

@50
2‘
0
(3]
H
-t 3
1 s o f t3
Q q i 206 R
;' \.
245 24
\' I. | alass L
/\ A19/5042-21-2500 2500
i Rubber
sier AL/GO200SOLEDSE v 0 | Sk, A19/5042-21-5000 20,76-21,52 5000
bisck  AL/6920-050-LED-SEB A19/5042-21-6000 5000




4 FENCE POSTS




60x50

FENCE PROFILES 70x70
80x80

MULTIBOXES MODEL S-1
MODEL S-2
MODEL X

FENCE ACCESSORIES —

FLANGES



42

Deformation [mm]

Ty .
== T =
= nag 2 2
8l TisT e 8
——..n !
glnf
17.5 17.5
50
FG/P50x60-.. FG/FP50x60-..
- ﬂ i MODEL
paL  FG/FP50x60-1850R7016 1850
TOE  FE/FPSOX60-6000-R7016 8000 -
siver  FG/FP50x60-7000-N 7000 20
na  FG/P50x60-1850-R7016 1850
7018 FG/P50x60-6000-R7016 8000 '
siver  FG/P50x60-7000-N 7000
o~ )|
f I = &
49 16 L
na.  FG/PC49x17-1850-R7016 1850 FG/PC20x16-20-R7016 20
7016 FG/PC49x17-6000-R7016 5000 f[;“'g FG/PC20x16-1850-R7016 1850
siier  FG/PC49x17-7000-N 7000 FG/PC20x16-6000-R7016 6000
siver  FG/PC20x16-TOOO-N 7000
10
& | ¥
= |
—| & 8
8 ﬂ{ [ e
8 3|
50 2:0 17.5
siver  FG/BP120x50-R7016 G - FG/CP50x60-R7016 A-DIN 75054 5x20
—— F1[N] —@— FZ[N] —— F3[N]
350
500
450 F2 e F
400 ¢
350
= an0 F3 §
= 250
200 r
150 B T 1
100 F1
a0
1]
10 20 30 A0 a0

thermal expansion 0,02mmyf1m/1°C







o
F -
16 =
L e 8
5 i pan
58 & —
0 11

P s YDGO1ALO3-1850/7016G 1850
ALUMINI
JREEEE 70 YDGO1ALO3-2500/7016G 2500

1o &

MOUNT
system

YDGO3AL02-1850/7016-G = 1850

A YDGO3AL05-0020/7016G 20
YDGO3ALO5-0050/7016G 50
—8— F1[N] —8— FZ[N] —8— F3[N]

121

1250

Force [M]

1000

750

500

250

A YDG02AL02-130X130/7016K-G

0 5 ] 15 20 25 30 35 40 45 a0 55
Deformation [mm]

.

L g

/.-—

44

thermal expansion 0,02mmyf1m/1°C



12 -

=2 &

:EI

-

]

To] 8

38 14 | FG/PC20x16-...
e RAL
MODEL 1018
s AL/3950-1850-R7016 1850
T8 AL /3950-6000-R7016 6000 siver
-~ — ¢
g
Fe [T oy
120 i
siver AL/5234-N

L

FG/PC20x16-20-R7016
AL/3948-20-R7016
FG/PC20x16-1850-R7016
FG/PC20x16-6000-R7016
FG/PC20x16-7000-N

L3
ez I3
016[ a4

AL/3948-20-R7

|
20

_akernative 1)

(akernative 2}

1850
6000

7000

A19/3950C-R7016

l
S

Q5/08-M8x80

45




FG/PBOxB0-..

2500

2000

1750

1500

1250

Force [N]

1000

750

Deformation [mm]

MODEL
na.  FG/FPBOx80-1850-R7016 1850
706 FE/FPB0xB0-6000-R7016 6000 -
silver  FG/FP80x80-7000-N 7000 20
nu  FG/PB0xBO-1850R7016 1850
708 FE/PB0xB0-6000-RT016 8000 v
siver  FG/PB0xB0-7000-N 7000
o L) ol
f ) = ;. 5 I
L w» ] L] :
FG/PC20x16-20-R7016 20
- 1 RAL
pa.  FG/PC49x17-1850-R7016 1850 so1e  FG/PC20x16-1850-R7016 1850
7018 FG/PCA9X17-6000-R7016 5000 FG/PC20x16-6000-R7016 8000
silver  FG/PC49x17-7000-N 7000 ziver  FG/PC20x16-7000-N 7000
xP12.5
®© @7 s
w
&le B & 5
Lil & 5 i=1
&
£ + o
© O, ® 2
D @ 3
Dé7
05 o&o sl ®.
130
RAL Fi RAL
ross  FG/BP130x120x10 A-DIN 7991-A3 W 10435 coie  FB/CBOxBO-R7016 A-DIN 75054 5x20
—8— F1[N] —8— F2[N] —8— F3[N]

@_

F3

3

40

1000

46

thermal expansion 0,02mmyf1m/1°C



t=10) ¢ 10)
A — — O
1 5
31.g M 318
46
B0

80

: L J] i ! MODEL
naL  FG/FP80xBOL-1850-R7016 1850

708 FE/FPBOxBOL-6000-RTO16 6000 -

siver  FG/FP80xB0L-7000-N 7000 20
au  FG/PBOxBOL-1850R7016 1850

708 F/P80xSOL6000-R7O16  GO0O v

siver  FG/P80xB0OL-7000-N 7000

Hfl

na  FG/PC49x17-1850-R7016 1850

T FG/PC49x17-6000-R7016 5000

siver  FG/PC49x17-TO00-N 7000 FG/.-6000-R7016 6000
4x@125

wy
gl @ & P
e =
© O e
a7
105 080
130
RAL RAL
roe  FG/BP130x120x10 4-DIN 7991-A2 M10x35 ro1e  FG/CBOxB0-R7016 A-DIN 75054 5520
—a— F1[N] —a—F2[N] —a— F3[N]

2500

1000

Force [M]
I~
&

a 5 0 15 20 e} 30 35 40

Deformation [mm]

47



100x100

100 .
84
Ax
MODEL
AL/9465-6000-R7016
6000 20
AL/9465-6000-N

MR nd cap)

AL/5405C-R7016

ANCHORING OPTION 1

art

Q5/01B-300

ﬁ.}ﬂ‘\lg AL/5402.R7016 | AISI304 A-DIN 975-1587 M10x100
Q5/01B-400 vinylester
Q5/01B-400 Winter
ANCHORING OPTION 2 END, CORNER, GATE POST INTERMEDIATE POST

HOW DO | CALCULATE THE CORRECT FENCE POST HOLE DEPTH® - CHECK FOR

Fence stability starts at the bottom. The depth of your fence post footings will vary ac- PLUW&NIF

cording fo fence height, wind loading, and soil type as well as other factors.

For example, an 1800mm fence in wind zone A will require footings of @ minimum of TAPERED CONCRETE

400mm deep by 200mm wide whereas the footing dimensions for the same fence in FOR WATER RUN OFF

wind zone D will need to be at least 700—1100mm deep by250mm wide. GROUND LEVEL MARK —

A solid security fence such as a Diamond Chainwire fence will require 800mm deep by
300mm wide footings.

Ensure that the soil at the bottom is adequately compacted to ensure adeguate weight
bearing support and that the top sail layer is not included in your footing depth.




FOR MORE INFORMATION CONTACT : +421 910 743 087

49



iy

2
0
o
o
(1]
O
=z
41
(T

Material Finish Effect art.

AL/L15x15x1,5-6000 15 15

 AL/L20x20x2.6000 20 3 ceas
AL/L40x40x3-6000 40 "
AL/L50x50x3-6000 50
-
o
t
———
- —
| Material Finish Effect art. a b t L
AL/L40x20x2-6000 20 40 5
siver  AL/L50x30x2-6000 50 6000
P A AR PR i m
AL/L60x30x3-6000 60 3
3
—H
ty
iR
40
Material Finish Effect art. t L
siver  AL/P75x55x40x3-6000 3 6000
a
t
o
: Material Finish Effect art. a t L
AL/15x15x1,5-6000 15 4
FG/S20x20-6000-N 20 '
AL/25x25x2-6000 25
AL/30x30x2-6000 30 2
AL/40x40x2-6000 W
AL/40x40x3-6000 3 6000
AL/50x50x2-6000 &5 2
AL/50x50x3-6000 3
AL/60x60x2-6000 80 2
AL/BOXB0X3-6000 80 5
AL/100x100x3-6000 100

50

_..IEI__
&

Material Finish Effect art. t L
ihver 20%5-6000
i ol 5 6000
blsck  AL/20x5-6000-R9005
a
o i
I
Quality Finish Effect art. a L
AL/U2 5000 25 2
sitver  AL/U40x40x3-6000 40 6000
3
AL/US0x50x3-6000 50
a
}
= 2
3
L w0
Material Finish Effect art. t L
giiver  AL/T75x35x40x3-6000 3 6000
a
t
a
Material Finish Effect art. a b t L
FG/S20x40-6000-N 40 5
FG/S20x60-6000-N 80 ’
FG/S20x80-6000-N 80 20
FG/S20x100x1-6000-N 100 1
FG/520x120-6000-N 120
AL/50x30x%2-6000 30 2 2
50x40x3-6000 3
Al 8000
AL/60x40x2-6000 & 2
AL/60x40x3-6000 40 3
AL/80x40x3-6000
AL/BOXx40x2-6000 - 2
AL/80x50x3-6000 50
AL/80x60x3-6000 80 3
AL/100x50x3-6000 50 100

thermal expansion 0,02mmy1m/1°C




FLANGES/END CAPS ALUMIN

4
Quality Finish Effect art. a Quality Finish Effect art. a
gihlver v st A0 ailver = 80
FG/C100x100-01-N 100 | FG/C100x100.02-N 100

FENCE POSTS

Quality Finish Effect art. a

FG/CE0X60-03-N &0
sier  FG/CBOX80-03-N 80
FG/C100x100-03-N 100

Quality Finish Effect art. a
FG/BPE0x60LN 60

- FWBPMU—N 80
FG/BP100x100U-N 100

FG/BP120x120UN 120

51






SINGLE-SWING
GATE

DOUBLE-SWING
GATE

ROLLING
GATE

CANTILEVER
GATE

FRAME

SSG

FRAME

DSG

FRAME

RLG

FRAME

CLG




LV eh]IWI - 60x50 FRAME

& =
FG/P50x60-1850-R7016 2x
FG/P50x60-1650M-R7016 1
FG/PC20x16-1850-R7016 3x
FG/CH0x60-RT016 2x
A-DIN 912-A2 M10xE80 4x
A-DIN 7505A 5x20 Bx
FG/CH30xE60-RT016 2x
& m

FG/S20x100x1-3000-R7016  5x

FG/PC20x16-20-R7016

A-DIN 7504K-A2 4. 2x16

- L=A+5+59
[ 23, A 3646
//
I
3 - L«I, I8
I =
e § N
sy
'l | 7
S=8mm
[mln}__'
\—/ fui]
-
A

5318 RAL7016  FG/S-SSGR7016-SET

1025 | 1850 | S+1084

& m
D4/84-40x40-GREY 1x
& =
D8/05G-L-i 1x
B&/0TT-30x15 1x
B8/30-30x85 1x
A-DIN 7505A 5x35 2x
B1/19N-80 1x
m- =
FG/DS40x20-1850-R7016 ix
A19/4466-M 2m
A-PH 5x20 Sx

thermal expansion 0.02mmyf1m/1°C



RM

«,ﬂr:-

\

]

/

55



hleln] 10} - 60x50 FRAME “"n

e 3

[ [

)
=

- L=A+795
=151 TR A
23
——
il i
= 1 o M o % i
A N

= i

[ALUMINIUMTTETTTET] RAL7O16  FG/S-DSG-R7016-SET | 3923 [ 1850 | 3995

5 6 thermal expansion 0.02mmy1m/1°C



FG/P50x60-1850-R7016

FG/P50x60-1850M-R7016

FG/PC20x16-1850-R7016

FG/C50x60-R7016

A-DIN 912-A2 M10x60

A-DIN 75054 5x20

FG/CH50x60-R7016

= =

FG/S20x100x1-2000-R7016 30X

FG/PC20x16-20-R7016 56X

A-DIN 7504K-A2 4,2x16 120

= =

D4/84-40x40-GREY 2%

D&8/05G-L- 1x
B8/07T-30x15 1x
A-PH 5x20 2x
B8/30-30x85 1x
A-DIN 75054 5x35 2%
B1/19N-80 1x

FG/DS540x20-1850-R7016 | 1x

A19/4466-M 2m
A-PH 5x20 Sx
e |
D8/12-300 1%
B&/32 1%
A4-DIN 7505A 5x45 4%

57




C [T - soxso FRave ““n

95

ALUMINIUMTTETTTET] RAL7016  FG/S-RLG-R7016-SET | 6000 | 2045 | 5500

I wi
2 a0 = - I:IEI
thermal expansio




= =

FG/P50x60-6000-R7016

FG/P50x60-1850-R7016

FG/PC20x16-1850-R7016

FG/PC20x16-6000-R7016 [

FG/CA105x50-R7016

A-DIN 912-A2 M10x60

A-DIN 750354 5x20

FG/520x100x1-6000-R7016 15x

FG/PC20x16-20-R7016 Bdx

A-DIN 7504K-A2 4 2x16  200x

FG/UG54x50-6000-R7016

H8/53

FG/BG54x50-6000-R7016

H/O1PVC-AL

H/O1PVC-FS-AL

A-DIN 7505A 5x35

HB/31V-80

A-DIN 912-A2 M8x45

A-DIN 934 M8

A-DIN 125-A2 M8

HB/39V-6000

ART.
H8/37-60P 1x
HB/16-46x130 1x
A-DIN 934 M10 1x
A-DIN 125-A2 M10 1x

A-DIN 7380-A2 M10x20 1x

59




ey I} - 60x50 FRAME

e e e B o Ve LUE L 2 W

WITTTETTTTTTTTV LT

ONLINE GATE
DIMENSIONING !
|
L
D L 50

27

IFEE]] RALTO16  FG/S-CLG-R7016-SET

6000 2125 | 4500

175 10

thermal expansion 0.02mmyf1m/1°C



ART.

FG/FP50x60-6000-R7016

FG/P50x60-1850-R7016
FG/PC20x16-6000-R7016

FG/PC20x16-1850-R7016

FG/CA105x50-R7016
A-DIN 912-A2 M10x60

A-DIN 75034 5x20

FG/520x100x1-6000-R7016 15x

FG/PC20x16-20-R7016 B4x

A-DIN 7504K-A2 4, 2x16  200x

FG/UG54x50-6000-R7016

H&/53

FG/BG54x50-6000-R7016

H/O1PVC-AL

H/O1PVC-FS-AL

A-DIN 7505A 5x35

SV-00x95-AL [

(S

o |n SV-90x95-AL

A-DIN 912-A2 M10x60
A-DIN 934 M10

= @
H&8/37-60P 1x
H&8/16-46x130 1x
A-DIN 934 M10 1x
A-DIN 125-A2 M10 1x

A-DIN 7380-A2 M10x20 1x

61



6 GATE ACCESSORIES

FOR ALUMINUM GATES




FRAME PROFILES

HINGES

LOCKS
INOX DOOR HANDLES

GATE STOPPERS, BOLTS

RACKS

WHEELS



1y RAL
AISI304  [UTUAS et

P natural BN
64

_l_|_R _l_|_.§
@ r o k=1
3 a1 7 B &
[ _|
o
Lo
] ‘I |‘ I
17.5 175
S0 50
FG/P50X60-... FG/FP50X60-...
ﬂ i ! MODEL
pa.  FG/FPS0x60-1850-R7016 1850
7€ FE/FP50x60-6000-R7016 8000 -
siver  FG/FP50x60-7000-N 20
pa.  FG/P50x60-1850-R7016
7€ FE/P50x60-6000-R7T016 v
siver  FG/PS0xG0-7000-N
b
f W ] =
w
na  FG/PC49x17-1850-R7016 1850
T8 FG/PC49x17-6000-R7T016 6000
sier  FG/PCA49x17-7T000-N 7000

207

635

@
& | 1
@

¥5

FG/BP120x50-R7016

A-DIN 75054 4.2x16

1

85

1850

1050

X

t MODEL
FG/GP50x60-1850-R7016 1850 20

FG/P50x60-...

]
~

FG/PC20x16-20-R7016 20
M FG/PC20x16-1850.R7016 1850
FG/PC20x16-6000-R7016 5000
siver  FG/PC20x16-7000-N 7000
& 3|
R7016 % 172
&0
)
|
= Tl [
&
g
25 17,5
FG/CH50x60-R7016
60
um S . FG/CPS0X60-R7016
AISI304 v 7018 FG/CH50xB0-R7016 IRy e

1x @18

/

~|B8/30-30x85

/

—1x @18 f

H/36-30A

® Mechanization

thermal expansion 0.02mmyf1m/1°C



N -

‘Ruhbe.r black A19/4466-M M

maL  FG/DS40x20-1850R7016 1850
7% FG/DS40x20-6000-R7016 6000

il ALUMINOM

pIELTRLIS IR RIS - SSG (SIGLE SWING GATE) / DSG (DOUBLE SWING GATE)

A-DIN 75054 5x20

A-DIM 75054 5x20

A-DIM FE04K 4. 2516

A-DIN T504K 4 Zxlé

A-DIN 75054 5x35

® Mechanization

65



WL [Te]
: g N
| | !
4 50083 _ _ a
. 84 . . 60 _
L2
@12
. o~
. _ @ox20
- ?g -
- 95 o
| grey  D4/83-40x40-GREY 80
- = Toa40
gD L. U o T
== B
w » 100 ) ~ | |
° . '
1 |H g 12
212 _ _ | ds
I\_;" | i, i '
I 1
4 || 50+63 Lo
= 84 - - 60 _
. S 50+63 o -
. PR e e
212 _ _ 8s ()|
, 2w
1 i T M~
) A
n I w — '
T oD 40
I - oo Ds/8sg0m0cREY 80

FIX-SPRING

102,
_ Lj I
ST )
L — O]
5 ! 7
o ;
i ] ¢ iﬂ
5 | .
I | e <
i | sl
U N O | |
254 | 215 = L | OJ_1
f 75 )
;(;- Mew

6 6 thermal expansion 0.02mm/1m/1°C



S=INZels{ei=pRz e/ hdI=28 - FOR ALUMINIUM GATES |

2= - SCREW/SCREW

= 4xP 10,5 30 cxd
> ol _
N~ i . -
1 ) / T \ =] [l
| =
‘ /I
a1
[N b_
ez gy = H
A " ]
35 B
55
e D8/53F-M12-K 12 50-70 6x18 40 Mew
D8/53AF-M16-K 16 70-85 8x18 60 e
ZiSd - SCREW/WELD
~ ht B
o
o]
A0
=N B
Ny L/
—— _|:':|_.\
lal |of |- =| f{ { Fe / nox
b
<, & '
L E
5
D4/53-M12-K 12 S6-63 55475 35 2 27 20 40
raw D8/53-M16-K silver 16 64-80  80x80 55 36 & 60 Aew
D8/53-M20-K 20 69x30 100x100 75 75 35 100 Mew

|@5/09-Quick-Fix QF5

e

fie

|@5/09-Quick-Fix QF5

67



&7

w satin  D8/15- K01

10

&7
&7

128 128

D8/15G-R-i D8/15G-L-i

. — N — ) k‘LI_I_ -yt
eafin | DB/ 15GH right —— \ \L(
D8/15G-L-i left @53 053

&2

=N
~—
44
42
—y

ELECTRO-MAGNETIC

o

|l

|
1
| @

1

J E—
\
JaE
ey
3$5| F)
4
1

B 1
270
-
&%
Il
]
=7
LT

L@ 5 B1/18-LC
s & ——
— RUBBER | | | | 'Q"
T - — = rj
L.LE : N

EEEZY sstin | ss/c14000 EEEZ =stn | s/o7rmaoxis B1/18F |

thermal expansion 0.02mmyiTm/1°C



]
=]

B1/09-50H
| B8/09-50H |

—

"l

1 |
2N
| & C 1

HE]

. BBIO?T—Sb 30 B1/184
satin {
i B8/07T-40 40 | B8/18-LC

H/36-30A

A 22,
' il 1~ o>
| T Lol ool
I . — [ I————1—-———1
s |
1] e g ¥
8| Hed T N
T 1 B1/19N 22,5
| i hd B1/19N-60 25
PR _B1/19N-70 3
A i B B1/19N-80 | 35 hew
‘ S ' B1/19N-R9005 22,5 hew
B1/19N-60-R9005 25 o hew
Qualty Fi ::‘,:!': art A B D F t B1/19N-70-R9005 30 LY
m-saﬁh B8/30-30x85 45 27 170 238 3 |heW _B1/19N-80-R9005 35 hew
I__L._ _._'E@ ix @18 F
& S~ '
D B8/30-30x85
\\_ o
i G o g ﬁ < 1x @18
2 ®
{}@ ' I
e

Quality  Fini=h art B

IENERN /56500 S6 27 H/3630K

® Mechanization

69



70

Ouality

|

D7/12...
D8/12...

AEELEY raw  Ds/12-300
JNEELEY raw  Ds/12L-500

A a B b H e

158 130 138 110 S0 22 60
120 95 100 75 42 20 45

D8/12L-500

X

o,
500 Iew

SECTION A-4

A

a

S

—

A\Y

A\Y

e D&/12-300

A4-DIN 75054 545

thermal expansion 0.02mm/1m/1°C




H/01PVC-AL-K

FG/FPS0x60-..

FG/FPS0x60-..

528 2889 ik 2889 528
1005
H/01PVC~J
Finich Module Gmax(kg) H/O1PVC-J-BS H/O1PVC-FS-J
H/01PVC-J-BS : -
RIS S "
raw  H/O1PVC~ 4 300 1x
'H/O1PVC~J-2PACK 2% 2x hew
30
715 15,8 100,8 1008 168 . 775 n
YT 1
Gmax
_ (kg)
_H/01PVC-AL 300 H/O1PVC-FS-AL | |FG/BG54x50-...
&000
_ - ‘
o FG/UG54x50-6000-R7016 6000 H8/04-32-W,
s FG/UGS4x50-7000N 7000 He/04l-35 | el
538
41.8
e
Ty
L -
’ e -
.
8.8
4000
H/01PVC-FS-AL
751z FG/BG54x50-6000-R7016 6000 —— |
siver  FG/BG54x50-7000-N 7000 ‘MU

il




H/12-4T
H/12-4T-R9005
H/12-4T-R7016
H8/12-4T

=

=
-

Hf12-2
H/12-2S
H/12-25-R9005
H/12-25-R7016
H8/12-2S

H/53
H/53-R9005
H/53-R7016
H8/53

220

RAL 9005 140-180 140 53 10 35 12 HeW

RAL 7016

s 135-175 155 56

185 -

RAL 9005
RAL 7016

RAL 8005
RAL 7016

15

- U/40x40

68

57

.‘ﬂ
U on L

11

Mew
16 58 14

i

41 25665 - - B4
30 3585 14 36 60
BEARING

a
fuisal g
 —— S —
NYLON N
Jh
jeung]
! 0 0 "
, i = e =
NYLON
|
|
16
Hew
34 12| o ow
o PLASTIC
195
= (1 105

thermal expansion 0,02m miTm/1°C



RUBBER ~| b

RUBBER.

PLASTIC
—
]
fual
E M1z

1N

H/37-40P :
H/37-40P-R9005 RAL 9005
H/37-40P-R7016  RAL 7016
HB/3?-40P

H/37-60P

H/37-80P-R9005 RAL 9005
H/37-60P-R7016 RAL 70186
H8/37-60P |
H/37-80P 80 60 123 |

m

H/16-46x130
| H8/16-46x130

I

# m

=1

&

fir

=

1z

H/16-46x130 -
H/16-46x130-R9005 RAL 5005 e/
H/16-46x130-R7016 RAL7016 e

raw H8/16-46x130 =

174

130

NS e =

&0
A 2]
=2
> f —
2 '81 e 5|
i
i 3x 11x30
Q ty Finizh art. A0
B 140
B o005 e




60 I~
it o (o]

=

v !
-—_|
II:E&— k=
ks ) P 1
i o H F
H/10B-60x130 - e A
H/10B-60x130-R9005 RAL 9005 FvE&i/ 7
H/10B-60x130-R7016 RAL 7016 e/ — W —
H8/10B-60x130 = — —
50
e =T
o
o
o
T T
~
- Y
W
) ' o
Crualrty Finish art :@' '@'J
H/10B-50x80 - 76 |
H/10B-50x80-R9005  RAL 9005 Fveil/ 100
H/10B-50x80-R7016  RAL 7016 e/
3 o
B
M~
M~
u
| - 1
%r
O
Q0
- W,
Quality Finizh 45
_H/103—50x120 hew 095

74 thermal expansion 0.02mm/1m/1°C



-

=~

(.D / *~nvLON

2
Pas
b

H/31U-60 .
 H/31U-60-R9005 RAL 9005 58 75 64 17 85 27 55 200 new
H/31U-60-R7016 RAL 7016 & Mew
H/31U-80C 2 00
H/31U-80C-R2005 RAL 9005 v - - | hew
H/31U-80C-R7016 RAL7016 78 95 85 100 . 70 300 hew | H
| H8/31U-80-R10 23 1
" | H8/31U-80-R10-NYLON 25 Hew
H/31U-100 < 98 115105 8 22 132 102 400 :
H/31V-60 27
raw  H8/31V-60-NYLON 28 hew
H/31V-60-R9005 RaLgoos °° 7o 64 Ll - 23 200 new
H/31V-60-R7016 RAL 7016 e 8
H/31V-80C = o A-DIM 125-A2 M8
H/31V-80C-R9005 RAL 9005 hew BT e
H/31V-80C-R7016 RAL7016 78 95 85 20 100 .. 70 300 new
| H8/31V-80 ]
| H8/31V-80-NYLON = Hew
H/31V-100 98 115 106 22 132 102 350
__ L 6000 o
L5l 10290 i 10
—— & & & &
LA 7 L7
= e e
. &
| & |
Ll :LA{ |
L 3000
H/39V-...
H8/39V-...
o &
1 |
l_—ll—‘ \—;—‘
H/39U-...
H8/39U-...
h a - L Ty cthe
i
H/39U-3000 3000
60 465 8
H/39U-6000 6000 i
H8/39U-3000 3000
55 40 10 1
H8/39U-6000 6000
H/39V-3000 3000
H/39V-6000 6000
60 465 5 3 v
H8/39V-3000 3000
H8/39V-6000 6000

75



76

@13.1

J7.8
+

1
6.2
47,6

~‘! Sl ( 44 G
\- \
e T
Quality  Finish art. Color L

'H/02-90x99-AL-6000 - hew
| H/02-90x99-AL-6000-R9005 RAL 9005 6000 FveiV/
/02:90x59-AL-6000R7016 RAL7016 oW
H/02-90x99-AL-7000 - heow
|H/02-90x99-AL-7000-R9005 RAL 9005 7000 e/
|H/02-90x99-AL-7000-R7016  RAL 7016 hew

H/O1PVC..

art.
1/02-90x95-AL-6000
- H/02-90x95-AL-6000-R9005

Quality  Finish

' H/02-90x95-AL-6000-R7016

Color L
8 hew
RAL 9005 6000 e/
RAL 7016 ew

H/02-20x75-AL-4000
[Aluminium profile)

A-FTT-LL10 1410, DIN1587 IA10, DINT380

110, DIN%21

A0, DINF12

1110, DIN31 (110, DINF34

o)

thermal expansion 0,02mmy1m/1°C



MODEL Al
90x95
L4m/Ge200kg

[]

MODEL Al
90x99
L4m/Gs200kg

[]

a8

Fjjif
=

=

[ H/34-4-90x95-NYLON |

H
¢ LML

H/66-15%25

GATE

ACCESSORIES




DIN 7380 M10x20 8.8Zn 10 20 DIN 125 10-Zn 20 2
ADIN 7380-A2 M5x12 5 RN i 30 25
1 12 23 9
| A-DIN 7380-A2 M6x12 e | ehaaletaa UStBNMean 28 9
| %6 12 s
4O Tan0 A2 M0 10 WIT-SHB M12-Zn 28 14
AISI304 A-DIN 7380-A2 M8x12 8 12 e o s 1
| A-DIN 7380-A2 M8x20 | ADIN 9021-A2 M8 a0 8 25
A-DIN 7380-A2 M10x20 10 20 | ADIN 125-A2 M8 16 16
i - AISI304 -
| A-DIN 7380-A2 M12x20 12 | A-DIN 125-A2 M10 20 10 8
| A4DIN 7380 M5x12 12 | ADIN 125-A2 M12 4, 25
| - 5 | ADIN 433-A2 M12 20
| A4-DIN 7380 M5x16 15 ! 2
| A4DIN 9021 M3 24 Ba
AISI316 A4-DIN 7380 M6x12 g 12 P o o s
A RINGE S0 WiBs 20 8 5 AlISI316 | A4WIT-SHB M8 23 g
| A4-DIN 7380 M10x20 10 | AA4WIT-SHB M10 26 12 s
| A4-WIT-SHB M12 o8 14
e
" A-DIN 439B-A2 M8 4 | A-DIN 912-A2 M5x20 5 - 5
A-DIN 934 M3 8 TaL ADIN 912-A2 M8x20 . .
AISI304 ADIN 934 M10 0 8 ADIN 912-A2 M8x45 ”
raw  ADIN 934 M12 1210 A-DIN 912-A2 M10x45 10 0
A-DIN 934 M16 6 13 A-DIN 912-A2 M10x60 60
os A4-DIN 4398 M8 8 4 | ADIN 912-A2 M12x25 o 25 12|
) _ A4DIN 934 M10 0 8 ADIN 912-A2 M12x35 as 12
AISI316 A4-DIN 7984 M8x12 8 12 s
3 k &""a,
APH 5x20 20 m A-DIN 7981C-A2-TX 4,2x60 4.2 60
5
A-PH 5235 30
A-PH 6x45 5 45
AISI304 raw
- A-DIN 7505A 5x20 20
A-DIN 7505A 5x35 5 as
A-DIN 7505A 5x45 a5
A-PH 5x20 : 20 A-DIN 7504K-A2 4 2x13 13
. 42
AlSI304 raw A-PH 5x35 35 A-DIN 7504K-A2 4 2x16 16
AlSI304 raw
A-PH 6x45 6 45 A-DIN 7504K-A2 5,5x25 55 25
A-DIN 7504K-A2 6 3x16 8.3 16

78 thermal expansion 0.02mmyf1m/1°C



-

99v6 V3
ALILOT

A/spray-R7016 400 Repair spray .05{0350 . S0mi, p.roﬁ Q5/05-LOCTITE 50 epoxy adhesive

A/GLUE-403-20g A/GLUE-20g

|A/GLUE-20¢

Jog/og  cuting/driling 400 e 20 0,2 aﬁu%‘gﬁggf Q5/05-MAMUT 290 instant fix

D/ G200 Nordic 20°C +10°C S/ asHang ati . ol Q5/01GFP-300 Pol e
Q5/01GF-400 Nordic Q5/01B-400 vinylester -10°C +40°C Q5/01GFP-400 olyester t .
Qao1Gr 208 ester 10°C +30° | Q5/01B-400 Winter 20 are] -

Q5/01GF-400 )

Q5/03-300 300ml, hobby Q5/03-400 400ml, profi Q5/01-16x130 mesh

79



7 GATE SETS

FOR ALUMINUM FENCES/GATES

i

80




MODEL AIR

ZOSTAVY PLOTOVE MODEL L1S
MODEL L2S

MODEL SSG

= z MODEL DSG

ZOSTAVY BRANOVE MODEL RLG

MODEL CLG




PLOTOVE

7x
FG/520x120-2000-R7016

[

2x
FG/AS20x14-1200-...

i

g 30x
A-DIN 7504P 4,2x13

yeu

Plotovy hlinikowy dielec

FG/AIR20x120-1,2x2-R7016

10x
FG/L1520x120-2000-R7014

.,

2x

FG/AL64x3E-1200..

L

g 50x

A-DIN 7504F 4,2x13

(

Plotovy hlinikowy dielec

FG/L1S20x120-1,2x2-R7016

I :
L4

10x

FG/L2520m120-2000-R7014

[

2x
FG/AL64x38-1200..

L d

WSOX

A-DIN 7504F 4,2x13

R

S| EE~—/  MODELLOUVER 2

Plotovy hlinikowy dielec

FG/L2520x120-1,2x2-R7016

8 2 thermal expansion 0.02mmy/1m/17C



Ellle1| RAL7016 FG/S-SSG-R7016-SET

1025 | 1850 | S+1084 ‘

Effect art

(A RAL7016  FG/S-CLG-R7016-SET

DISASSEMBLED

DISASSEMBLED

DISASSEMBLED

DISASSEMBLED

83



APLICATIONS

DESIGN GALLERY













AlSI304 AlSI316

AlSI304 AlSI316

AlsI304

[ ]

Alsi304 AlSI316

INOX AISI 304

- vhodny do prostredia bez chldru a oxidu siricitého

INOX AlSI 316

- vhodny do prostredia s vysokym obsahom chldru, oxidu siri¢itého,
vysokej vinkosti, do primorskych regicnov

INOX S.5. 2205- vhodny do prostredia s vysokym obsahom chléru,
oxidu siricitéhe, vysokej vihkosti s pritomnostou soli na pobrezi a na
volnorm mori.

2 INOX AlSI 304
-~

- suitable for the environment without chlorine and sulphur dioxide
load

INOX AISI 316

- suitable for the environment with a high content of chlorine, sulphur
dioxide load, high hurnidity, coastal regions

INOX S.5. 2205

- Suitable for environments with a high content of chlorine, sulfur
dicxide, high humidity with salt on the coast and on the high seas.

INOX AISI 304

- przeznaczone dla srodowiska bez dwutlenku siarki oraz chloru
INOX AISI 316

- przeznaczone dla Srodowiska o wysokie] zawartosci dwutlenku siarki
oraz chloru, wysokiej wilgotnos¢ oraz w regionach nadmorskie

INOX S.5. 2205

- Nadaje sie do srodowisk o wysokiej zawartosci chloru, dwutlenku
siarki, o wysokiej wilgotnosci, o duzym zasoleniu, w strefach nadmor-
skich, lub w bezposrednim kontakcie z woda morska.

INOX AISI 304

- alkalmazhato clyan kérnyezetben, ahol nincs klor és kén-dioxid
terhelés

INOX AISI 316

- alkalmazhato clyan kérnyezetben, ahol magas a klor-, vagy kén-
dicxid terhelés, magas a paratartalom, tengerparti régiokban

INOX S.5. 2205

- Alkalmazhato magas klor-, kén-dioxid-, sos nedvességtartalmu
komyezetben, valamint tengerparton és a nyilt tengeren”.

INOX AISI 304

- geeignet in Umgebung ohne Chlor und Schwefeldioxid

INOX AISI 316

- geeignet in Umgebung mit einem hohen Gehalt an Chlor, Schwefel-
dioxid oder in Urngebung mit hoher Luftfeuchtigkeit, in Kistenregi-
onen

INOX 5.5. 2205

- geeignet fur Umgebungen mit hohem Gehalt an Chlor, Schwefeldi-
oxid und hoher Luftfeuchtigkeit mit Salz an der Kiiste und auf hoher
See

INOX AISI 304

- Convenable pour les environnements sans chlore et/ ou bioxyde
de soufre

INOX AISI 316

- Convenable pour les environnements avec un contenu élevé de
chlore et/ ou de bioxyde de soufre, une grande humidité, régions
maritimes

INOX S.5. 2205

- Convenable au milieu avec un contenu élevé du dioxyde de soufre,
ainsi qu'au miliew humide contentant du sel, tel que le bord de mer ou
la mer ouverte.

AISIZ04
nerezova stal rozsdamentes stainless
ocel nierdzewna acél steel Edelstah] INox
CORTEN corten ocel corten stal corten acél corten steel Cortenstahl corten
hlinik aluminium aluminium aluminium Aluminium aluminium
zliatina. stop cynku i Zn+Al [ | alliage
Zn+Al aluminium stvbzet ZAMAC | Zinkdruckguss . Zn+Al
Zelezo Zelazo vas iron Eisen fer
E zinok cynk cink zinc Zink zinc
o
E mosadz miedz sargaréz brass Messing laiton
polyvinyl chloride
polyethylene terephthalate glycol
guma guma gumi rubber Gummi gomme
buk buk biikk beech Buche hétre
dub dab télgy oak Eiche chéne
smrek Swierk lucfenyd spruce Fichte épicéa
sklo szkio lveg glass Glas verre
brus. szlif szalcsiszolt | brushed “geschiiffen brossé
K320 K320 K320 K320 . K320 K320
striebormny srebro ezist silver Silber argent
| tlkér 2z ) 2
E | lesk polerowany polirazott polished poliert poli
; surovy surowy nyers raw roh brossé
2
£ nebriseny neszlifovany natdr rough ungeschliffen non-brossé
nerez nierdzewny rozsdamentes inox Edelstahl inox
ELOX eloxovany anodowany eloxalt elox Eloxiert anodisé
@ potrebné niezbedne szikseges necessary Anpassung ist | modification
. ~ Upravy | przystosowanie | modositds | modification | notwendig | nécessaire
L+ nezmontované | niezloZzone nem not unmontiert T
ot azzembied | | Osszeszerelt | assembled | assemblé
~ priblizny przyblizone \éizelits méretek approximate :Ji:gﬂ?ﬁé dimensions
rozmer wymiary dimension ungefanr approximatives
:Jj’?-/fi"" bestseller bestseller legjobban best seller Bestseller best-seller
. i eladott
MW novinka nowosé i new Meuheit nouveau
E‘.z RAL color
PVD = (physical vapor deposition) coating
PVD-L = polished surface finish
s
=()- LED
,E ~
IKA| [ES
LGARy AHBY | sumcsrom [§ = Gamin
icomosion fest report

pravo na

88

£, varové a

pre najnoviie informacie navitivie nasu webowd stranku wew

& zmeny vyt

dené/ rights to

shape and di

changes reserved

& { for latest information plesse visit our web site v

thermal expansion 0,02mmy1m/1°C



®

2%

+421 51 488 19 00
info@umakov.sk

SERVIS
+421 910 262 820

E umakov.sk

i

objednavky@umakov.sk

REKLAMACIE
+421 911 915 952

+421 908 944 153
+421 910 262 707
+421 908 986 081

UCTOVNE ODDELENIE
+421 902 928 245

MARKETING
+421 915 781 139

umakov.sk
+421 911 383 645 +421 911 750 326
servis@umakov.sk reklamacie@umakov.sk fakturacia@umakov.sk marketing@umakov.sk
KROMPACHY BRATISLAVA BANSKA BYSTRICA
Hornadska 337 Roziavska 1 Zvolenska cesta 17
053 42 831 04 974 05
& +421 911 455 347 g +421 917 739 412 & +421 905 304 548
+421 904 644 378
krompachy@umakov sk ba@umakov.sk bb@umakov.sk
(@) +420212 240751 Y&F umakov.cz 3  +420608 743 164
info@umakov.cz objednavky@umakov.cz +420 775 455 079
+420 608 313 799
% SERVIS %] REKLAMACE B4 UCETNi ODDELENI
+420 775 061 735 +421 911 915 952 +421 902 928 245
umakov.cz +421 910 262 820 +421 911 750 326
servis@umakov.cz reklamace@umakov.cz fakturace@umakov.cz
PRAHA - OTICE RICANY U BRNA HRADEC KRALOVE MORAVANY U BRNA
Otice 40 Mam. Osvobozeni 63 MNachodska 607 Primyslova 981 /1
251 63 Strancice 664 82 503 01 664 48
& +420 608 313 799 8 +420 608 743 164 8 +420 778 001 899 +420 774 533 989
praha@umakov.cz bmo@umakov.cz hk@umakov.cz moravany@umakov.cz
@ +48 32 202 19 29 E umakov.pl 3 +48500 110 199
info@umakov.pl zamowienie@umakov.pl +48 668 494 940
+48 517 534 197
umakov.pl 8 GDANSK 8 RADOM 8 NOWY SACZ POZNAN
+48 735 419 155 +48 664 855 695 +48 510 696 236 +48 602 335 611
gdansk@umakov.pl radom@umakov.pl nowysacz@umakov. pl poznan@umakov.pl
Ruda élqska
Al. Rodziny Gurtlerow 81
41-700
8 +48 517 534 197
umakov@umakov.pl
() +36 306 446 653 umakov.hu Ry +36 306 446 653
info@umakov.hu megrendeles@umakov. hu +36 301 610 011
umakov.hu +36 307 572 009
BUDAPEST

g

Karman Todor utca 1. A. ép. 1. ajto

2142 Nagytarcsa

+36 305 662 474
hungary@umakov.hu

Gea



> umAKov sk

www_umakov. sk
info@umakov._sk

+421 51 488 19 00

UMAKOV DE / AT

www._umakov.de
info@umakov.de

+421 907 684 761

P umakov cz

www._umakov.cz
info@umakov.cz

+420 212 240 751

UMAKOV FR
www._umakov. fr
info@umakov.fr

+33 6.46.33.03.51

P umakov PL

www._umakov._pl
info@umakov.pl

+48 32 202 19 29

UMAKOV IT

www.umakov. it
info@umakov.it

+39 348 349 0444

P umMAKOV HU

www.umakov.hu
info@umakov.hu

+36 306 446 653

A UMAKOV WORLD

www._umakovshop.com
info@umakovshop.com

+421 915 093 533



